fAM: EXNSXIL
HH: HHRIHHI(FEXAKRXID)
el IE2 ] (el &)
SN H - SR(EH) - NPAMY - BES 0] &F o 013 o HRE2
S X=Xt 18,831,672 16,237,625 2,594,047
= 10,188,060 10,148,640 39,420
= 2,240,000 2,240,000 0
= 50,000 0 50,000
= 6,353,612 3,848,985 2,504,627
HY 2L ZH(FEXS ) 116,244 120,998 N4, 754
Iz 2 & 56,619 61,373 N4, 754
elala] 56,619 61,373 N4, 754
101 @1 24H| 53,619 58,373 N4, 754
01 2= 53,619 58,373 N4, 754
OANZt2RaE HHZ(15Y) 15,477 14,751 726
—b55 11,0022 * 12 «10Al 2+« 123 1,321 1,259 62
—6= 9,383 *4H «10Al 2tx 123 4,504 4,293 211
—7= 8,4763 *5F »10Al 2tx 122 5,086 4,847 239
—8= 7,609 «6H «10Al 2tx 123 4,566 4,352 214
Oxzu2f=¢ 8,4763 15 *25A| 2tx 12 38,142 43,622 AN5,480
JIg N2 &dst 279,049 253,255 25,794
JNHX& 279,049 253,255 25,794
SAJY 84 266,655 249,655 17,000
301 Lt as 13,000 8,000 5,000
10 HAIAHIE &3 13,000 8,000 5,000
OFALAEXINY #AHEZ) 500,000 103 5,000 0 5,000
307 2I2toI ™ 12,000 0 12,000
04 QIZEHALE X 12,000 0 12,000
OFNRX S0 LA &It 12,000 0 12,000
HHEE2S 12,3% 3,600 8,794
201 24 12,394 3,600 8,794
01 AtR2tel 4,800 2,400 2,400
O#IHEY (ML) 2DHI(ARE, AREES)
400,000 x12& 4,800 2,400 2,400
02 2324l 7,594 1,200 6,394
O&Jlz, st8 s 600,000& «12& 7,200 1,200 6,000
OHMdLY (1) HeEAHAZH|
1,312& %10 £ 30 394 0 394
SARINESEFA 435,700 392,700 43,000
= 40,000 0 40,000
= 395,700 392,700 3,000
SUHEX&-35t 435,700 392,700 43,000
= 40,000 0 40,000
i 395,700 392,700 3,000
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SN

I‘I iH:

=X
EXRIESEA

&t SR EE3t (etel: =3
SN EB -GS - MBAY - BES 0 & 24 p/E-T" HRE2
SR AL 395,700 392,700 3,000

301 etE a3 15,400 12,400 3,000
10 HAIAHIE &3 13,000 10,000 3,000
O=Jtg At ot & Nt st = X & H 3l 3,000 0 3,000
SR AL 40,000 0 40,000
S 40,000 0 40,000
303 Z&= 15,000 0 15,000
= 15,000 0 15,000
01 Z& = 15,000 0 15,000
O2011E HEENSIUY 75 Las 10,000 0 10,000
= 10,000 0 10,000
Q20118 dEENSINHE S8HS Aads 5,000 0 5,000
—zgd 5,000 0 5,000
= 5,000 0 5,000
401 Al EHIZ 2O YI 25,000 0 25,000
= 25,000 0 25,000
01 Al Hl 25,000 0 25,000
SENsXIY =2 EHIALY 25,000 0 25,000
< 25,000 0 25,000
s R N 12,699, 100 12,098,300 600,800
= 9,487,000 9,487,000 0
= 2,240,000 2,240,000 0
= 972,100 371,300 600,800
e R = PN 12,699,100 12,098,300 600,800
= 9,487,000 9,487,000 0
= 2,240,000 2,240,000 0
7 i 972,100 371,300 600,800
LB R E ALY 72,100 71,300 800
201 Et2Ed| 19,400 8,600 10,800
01 AtR2tel] 12,700 7,900 4,800
OUYEI SIS44E XIS
2,400,000 =200 & 4,800 0 4,800
02 2244 6,700 700 6,000
OUBIEDIIRt SR ASFEHX &= 6,000 0 6,000
—1EHES NH2S(2008) A=
1,000,000 42 4,000 0 4,000
—H==Z2Hel & ME2E HII=
500,000& 42 2,000 0 2,000
401 AIEHIZ 2 0HHI 40,000 50,000 A 10,000
01 Al€Hl 40,000 50,000 210,000
Og& Ut HaEs SAIE3At 20,000 50,000 30,000
ORH(&)SBEN HESLXHAL I
2 AL A 20,000,000& =14 20,000 0 20,000
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2H: EXSR D
Ha: NS XY

o9l A Y STEX| EY (el @R
SA-E . S(E) - MEAY - BES 0 & 24 pJE-T SImE=ET

SEs3HA ZEAS 900,000 300,000 600,000

401 Al EHIZ 2OHY| 900,000 300,000 600,000

01 Al Hl 837,855 297,855 540,000

Os8s3HN ZdAY 837,855 297,855 540,000

02 Zcltl 60,000 0 60,000

SEs3HA ZEAS 60,000 0 60,000

CHOHAHE X Sy E=T EXIALY 2,240,000 2,240,000 0

= 2,240,000 2,240,000 0

401 Al EHIL 2OHY| 2,240,000 2,240,000 0

= 2,240,000 2,240,000 0

01 A& H] 2,174,320 2,024,320 150,000

OOt SHEE EXALY 2,174,320 2,024,320 150,000

= 2,174,320 2,024,320 150,000

02 Zaltl 50,000 200,000 A 150,000

OUOtaH SHEE EXALY 50,000 200,000 A 150,000

& 50,000 200,000 A 150,000

detatd 24 203,050 23,050 180,000

A= S gee) 203,050 23,050 180,000

A= S g DAL 203,050 23,050 180,000

207 & IH | 180,000 0 180,000

01 A=l 180,000 0 180,000

O&IINSA SlAH A5S ?A& 31 EYH 180,000 0 180,000

IS A 1,541,207 1,102,000 439,207

= 701,060 661,640 39,420

= 840,147 440,360 399,787

HIAsA |4 1,541,207 1,102,000 439,207

= 701,060 661,640 39,420

= 840,147 440,360 399,787

HMIOXSA B2 (EX) 1,102,000 1,102,000 0

= 661,640 661,640 0

= 440,360 440,360 0

401 Al EHIZ 2 OHY| 352,000 352,000 0

= 352,000 352,000 0

01 Al€Hl 349,480 326,660 22,820

OXIINSA E5 ¥ S Zet 2ZAY 349,480 326,660 22,820

= 349,480 326,660 22,820

03 A& 201 2,520 25,340 N22,820

OXIINSA E5 ¥ SdZet 2ZAY 2,520 25,340 N22,820

= 2,520 25,340 N22,820

HMIIXsx 22 (AHA) 439,207 0 439,207

= 39,420 0 39,420

= 399,787 0 399,787
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fAM: EXEX

By ®IINSH &Y
Sl MIINSH S4 (Sl a2
SN -BH - S(B) - MRAY - BES 0f &k o s HRE2
201 Lt 2] 31,139 0 31,139
01 AbR 22 bl 19, 188 0 19, 188
OJIINSH H52 300, 0002 =44TH 13,200 0 13,200
OFIINSI ST FHBAMA 248
96,6902« 1074 B 97 0 %67
OJIINSH SE2 (011 22 E) 3,89 0 3,896
—HI ST EHYR(57) nAl SBE(
A3 187, 000! »8LH 1,496 0 1,496
—EHINSH EHUYR(57) DA SBE(
) 300, 0002 BLH 2,400 0 2,400
OMIINST SEH L HHSBY
45,0002 =25[4 1,125 0 1,125
02 2= 2| 11,951 0 11,951
OISR BHI| RLESH(2Y) It
30,0002 <4474 2 1,320 0 1,320
OJIINST 5TI| RLUSH(2E) SRS
7,700%1%447] <874 B 2,711 0 2,711
OFIINSH HIIQS 45,0002 x220 4 +8IH 2 7,920 0 7,920
401 Al EHIL 2 1Y) 408,068 0 408,068
2 39,420 0 39,420
2 368,648 0 368,648
01 Al bl 408,068 0 408,068
OFMIINSH St (20118 2SE)
1,320,002 24CH 31,680 0 31,680
OFIINSH B HME(2011E 23=)
528,000% * 16CH 8,448 0 8,443
OFIINSH BHAYTA(57) DH (2011 2
2=) 440,000 =84 3,520 0 3,520
OIS SHTS KB JIeAl | 50,000 0 50,000
~DS SHHEXIE &X (25M)
800, 00021 <25} 20,000 0 20,000
~DS RUSESFI| 01&(2042)
15,000,000% 204 £ 30,000 0 30,000
OMIINSH 22 L SHIT2t IHAY 275,000 0 275,000
—Hw=l HX 14 130,000 0 130,000
—22 o YT LI 24 145,000 0 145,000
OFIINSHEZ ¥ SHOIT2t 2=(2011H) 39,420 0 39,420
2 39.420 0 39,420
HPE S (SR D) 3,557,322 2,247,322 1,310,000
= 10,000 0 10,000
2 3,547,302 2,247,302 1,300,000
TESTEDE 3,557,322 2,247,322 1,310,000
= 10,000 0 10,000
2 3,547,302 2,247,302 1,300,000
SIERSEE 3,310,000 2,000,000 1,310,000
= 10,000 0 10,000
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FM: EXEX
M HRES(EURIY)
&R WRHHXNS (&9 HM

SNBSS - MBAY - BES 01l &4 24 pJE-T {imE=Eh

= 3,300,000 2,000,000 1,300,000

R2JI=d8E= 3,310,000 2,000,000 1,310,000

= 10,000 0 10,000

= 3,300,000 2,000,000 1,300,000

O EPIE=FSE—a= 3,310,000 2,000,000 1,310,000

OFXN=XHEI= 3,300,000 2,000,000 1,300,000
OfXsXAEIIZ(2011E MEEXNS XA

AN&Z) 10,000 0 10,000

< 10,000 0 10,000
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